é %3 ? 1&: Eksponenter pa 10

StudentName: ExamDate: ExamScore:
2,43 + 10* = 7,89 x 10% =
9,26 + 10 = 10* =
5x10% = 8,21 x 10? =
2,85+ 10° = 10° =
106 = 4,1 x 10*> =
10° = 3,43 +10° =
6,51 +10° = 2,03 x 10? =
9x 10* = 10° =
10% = 4x10* =
10° = 2x10% =
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é %2 ? "'\ﬁ: Eksponenter pa 10

StudentName: __ ExamDate: _ ExamScore:
2,43 = 10* = 0.000243 7,89 x 10% = 789
9,26+ 10 = 0.926 10* = 10000
5% 10%* = 500 8,21 x 10* = 821
2,85+ 10% = 0.00285 10°> = 100000
10° = 1000000 4,1 x 10% = 410
10° = 1000 3,43+ 10° = 3.43
6,51 + 10" = 6.51 2,03 x 10* = 203
9 x 10* = 90000 10° = 1000000
10 = 100 4 x 10* = 40000
10° = 1000000 2 x 10* = 20000
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